Year 3 Addition and Subtraction

Addition: Column Method

Subtraction: Column Method

0 =
-348

Place the numbers one
on top of the other,
lining up the hundreds,
tens and ones.

Subtract the ones (note
that the answer to 3 -
8 is negative).
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Exchange a 10 from the 50
to give 13 ones. Subtract
the ones: 13-8 =5

o

Subtract the tens:

o =
-348
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Subtract the hundreds:

400 - 300 = 100
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Check your answer./

15 + 40 = 155

453
+348

Place the numbers one
on top of the other,
lining up the hundreds,
tens and ones.
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Add the ones and
write the answer.

453
+348
1
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Regroup any tens
under the tens
column.
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Add the tens including
any tens you have
regrouped. Regroup any
hundreds under the
hundreds column.
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Add the hundreds
including any hundreds

you have regrouped.
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Check your answer.

+ 400 = 515
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combined

altogether sum

add

plus

total

take away

minus reduce

how many more?

How many remain?

difference subtract

equals

115 -100 =15




